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GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :    

1. All questions are compulsory. 

2. The question paper consists of 31 questions divided into four 

sections A,B,C and D. Section – A comprises of 4 question of 1 

mark each. Section – B comprises of 6 questions of 2 marks each. 

Section – C comprises of 10 questions of 3 marks each and Section 

– D comprises of 11 questions of 4 marks each. 

3. Use of calculator is not permitted. 
lkekU; funsZ”k % lkekU; funsZ”k % lkekU; funsZ”k % lkekU; funsZ”k %     
1. lHkh iz”u vfuok;Z gSaA 
2. bl iz”u i= esa 31 iz'u gS] tks 4 [k.Mksa esa v] c] l o n gSA [k.M & v esa 4 iz”u gSa vkSj 

izR;sd iz”u 1 vad dk gSA [k.M & c esa 6 iz'u gSa vkSj izR;sd iz”u 2 vadks ds gSaA [k.M & 
l esa 10 iz”u gSa vkSj izR;sd iz”u 3 vadks dk gSA gSaA [k.M & n esa 11 iz”u gSa vkSj izR;sd 
iz”u 4 vadks dk gSA 

3. dSydqysVj dk iz;ksx oftZr gSa A 
4. d`i;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`’B 4 gSaA 
5. iz”u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[k&ì’B ij 

fy[ksaA 

MATHEMATICS            MATHEMATICS            MATHEMATICS            MATHEMATICS            CLASS  X                           (SACLASS  X                           (SACLASS  X                           (SACLASS  X                           (SA----    2222))))    

Time : 3 to
4

13  Hours                                                       Maximum Marks : 90                                                       

                                                                                PREPREPREPRE----BOARD EXAMINATION 201BOARD EXAMINATION 201BOARD EXAMINATION 201BOARD EXAMINATION 2014444    ----11115555    

                                              SECTION ASECTION ASECTION ASECTION A    

Q.1 Which point on y-axis is equidistant from points )2,5( −A  and )2,3(−B ? 

y-v{k dk dksu lk fcUnq] fcUnqvksa )2,5( −A  rFkk )2,3(−B  ls lenwLFk gS ?  

Q.2 Is 68 a term of the A.P. : 7, 10, 13, …………..? 

D;k 68 ,d lekarj Js<+h : 7, 10, 13, …………. dk ,d in gS \ 

Q.3 Two dice are thrown at the same time. Find the probability getting same 

numbers on both the dice.  nks iklksa dks ,d lkFk Qsadk x;kA nksuksa iklksa ij ,d 
leku la[;k vkus dh izkf;drk Kkr dhft,A A 

Q.4 
Find the roots of the quadratic equation : 071367

2 =−− yy .  

f}?kkr lehdj.k 071367 2 =−− yy  ds ewy Kkr dhft,A 

                                             SECTION BSECTION BSECTION BSECTION B 

Q.5 If the perimeter of a sector of a circle of radius 5.7 m is 27.2 m, then 

find the area of the sector.  

;fn 5.7 eh f=T;k okys o`Ùk ds ,d f=T;[k.M dk ifjeki 27.2 eh gS] rks bl 
f=T;[k.M dk {ks=Qy Kkr dhft,A 

Q.6 Find the sum of all natural numbers from 100 to 200 which are divisible 

by 4. 100 ls 200 ds chp esa lHkh 4 ls HkkT; izkdr̀ la[;kvksa dk ;ksx Kkr dhft,A 

Q.7 Two tangents PA and PB are drawn from an external point P to a circle 

with centre O. Prove that AOBP is a cyclic quadrilateral. dsUnz O okys o`Ùk 

ds ,d cká fcanq P ls o`Ùk ij nks Li”kZ js[kk,a PA rFkk PB [khaph xbZ gSaA fl) dhft, 

fd AOBP ,d pØh; prqHkqZt gSA 

Q.8 There are three children in a family. Find the probability of that there is 

at most one girl in the family.  

,d ifjokj esa 3 cPps gSaA izkf;drk Kkr dhft, fd ifjokj esas vf/kd ls vf/kd ,d 
yM+dh gSA 

Q.9 Prove that the parallelogram circumscribing a circle is a rhombus. fl) 
dhft, fd ,d oÙ̀k ds ifjxr lekarj prqHkqZt leprqHkqZt gksrk gS \ 

1 2 
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Q.10 Prove that the points (2, 3),  )6,4( −−  and )2/3,1(  do not form a triangle. 

fl) dhft, fd fcUnq (2, 3),  )6,4( −−  rFkk )2/3,1(  ,d f=Hkqt ds 'kh’kZ ugha gSaA  

 
SECTION CSECTION CSECTION CSECTION C    

Q.11 A cone of radius 10cm is divided into two parts by drawing a plane 

through the mid -point of its axis. Compare the volumes of the two 

parts.   

10 ls-eh- f=T;k ds ,d 'kadq dks Å¡pkbZ ds chpksa chp tkrs gq, ,d lery] tks blds 
vk/kkj ds lekarj gS] ls nks Hkkxksa ckaVk tkrk gSA nks Hkkxksa ds vk;ruksa dh rqyuk dhft,A 

Q.12 A solid metallic sphere of diameter 21cm is melted and recasted into a 

number of smaller cones, each of diameter 7cm and height 3cm. Find 

the number of cones so formed. 21 ls-eh- O;kl okys /kkrq ds ,d Bksl xksys dks 
fi?kykdj NksVs&NksVs “kadqvksa esa <kyk x;k] ftuesa izR;sddk O;kl 7 ls-eh- rFkk Å¡pkbZ 3 

ls-eh- gSA bl izdkj cus 'kadqvksa dh la[;k Kkr dhft,A 

Q.13 
Solve for  0]252[)(99: 222 =++++− babaxbaxx .  

x ds fy, gy dhft, 0]252[)(99: 222 =++++− babaxbax . 

Q.14 The angle of elevation  of cloud from a point “h” m above a lake is  “ "α  

and angle of depression of reflecton (shadow) of  cloud in the lake is  

β .Prove the height of the cloud, above the ground is 

.
tantan

)tan(tan

αβ

αβ

−

+h
  

,d >jus ij α eh dh ÅWpkbZ ij ,d fcUnq ds ckny dk mUu;u dks.k α  gS rFkk >jus es 

ckny dh Nk;k dk voueu  dks.k β  gSA fl) djs fd tehu ls ckny dh ÅWpkbZ 

αβ
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)tan(tan

−
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Q.15 Water in a canal, 3m wide and 1.2m deep is flowing with a speed of 

10km per hour. How much area will it irrigate in 30 minutes, if 8cm of 

standing water is required for irrigation?  

3 eh pkSM+h vkSj 1.2 eh xgjh ,d ugj esa ikuh 10 fdeh@?kaVk dh pky ls cg jgk gSA 

30 feuV esa ;g ugj fdrus {ks=Qy dh lapkbZ dj ik,xh] tcfd flapkbZ ds fy, 8 ls-
eh- xgjs ikuh dh vko”;drk gksrh Gsa 

Q.16 Prove that opposite sides of a quadrilateral circumscribing a circle 

subtend supplementary angles at the centre. fl) dhft, fd oÙ̀k ds ifjxr 
cuh prqHkqZt dh lEeq[k Hkqtk,¡ dsUnz ij laiwjd dks.k varfjr djrh gSA 

Q.17 The time taken by Ram to cover 150km in one direction was 150 

minutes more than the time in the return journey. If he returned at a 

speed of 10km/hr more than the speed of going. What was the speed per 

hour in each direction?  ,d fn”kk esa jke dks 50 fd-eh- dh nwjh r; djus esa] ml 

fn”kk ls okfil mlh fcUnq ij vkus ls 150 feuVj vf/kd yxrs gSaA ;fn og okfil vkus 

esa igys ls 10 fd-eh-@?kaVk dh vf/kd pky ls pyrk gS] rks mldh izR;sd fn”kk esa tkus 
dh pky Kkr dhft,A 

Q.18 the face cards of spades are removed from a well shuffled pack of 52 

cards. A card is then drawn at random from the remaining pack. Find 

the probability of getting (i) a black card (ii) a queen .  52 iÙkksa dh ,d rk”k 
dh xM~Mh esa ls gqde ds lHkh rjohj okys iÙks fudky fn;s tkrs gSaA “ks’k iÙkksa esa ls 
;kn`PN;k ,d iÙkk fudkyk tkrk gSA izkf;drk Kkr dhft, fd fudkyk x;k iÙkk (i) ,d 
dkys jax dk iÙkk gks (ii) ,d csxe dk iÙkk gks A 

Q.19 
Solve for x, 06)89(12 222 =++− abxbaabx .  

3 4  
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x ds fy, gy dhft, ; 06)89(12 222 =++− abxbaabx  

Q.20 Find m, such that area of ABC∆  is 2 square units when the vertices are 

A(3, 4), B(m, 2) and C (5, 6).   

;fn ABC∆  ds 'kh’kZ A(3, 4), B(m, 2) rFkk C (5, 6) gSa rFkk bldk {ks=Qy 2 oxZ 

bdkbZ gS] rks m dk eku Kkr dhft,A 

 
                                                                                                                                            SECTION SECTION SECTION SECTION DDDD    

Q.21 The points P (2, 9), Q (a, 5), R (5, 5) are vertices of a triangle PQR right 

angled at Q. Find the value of ‘a’ and hence the area of PQR∆ .  

fcUnq P (2, 9), Q (a, 5) rFkk R (5, 5) ,d ledks.k f=Hkqt ds 'kh’kZ gSa] ftlesa Q∠  

ledks.k gSA a dk eku Kkr dhft,A PQR∆  dk {ks=Qy Kkr dhft,A 

Q.22 A tree is broken by the wind. The top struck the ground at an angle of 

30° at a distance of 30m from the foot. Find the whole height of the 

tree. ans ;  

vka/kh vkus ls ,d isM+ VwV tkrk gS vkSj VwVk gqvk Hkkx bl rjg eqM+ tkrk gS] fd isM+ dk 

f”k[kj tehu dks Nwus yxrk gS vkSj blds lkFk 30° dk dks.k cukrk gSA isM+ ds iknfcanq 

dh nwjh] tgka isM+ dk f”k[kj tehu dks Nwrk gS] 30 eh gSA isM+ dh dqy Å¡pkbZ Kkr 
dhft,A 

Q.23 An aeroplane left 40 minutes late due to heavy rains and in order to 

reach its destination, 1600 km away in time, it had to increase its speed 

by 400 km/hr from its original speed. Find the original speed of the 

plane.  Hkkjh o’kkZ ds dkj.k ,d ok;q;ku 40 feuV dh nsjh ls pykA 1600 fd-eh- dh 
viuh ;k=k dks le; ij iwjk djus ds fy, mls viuh pky dks igys ls 400 fd-eh-
@?kaVk c<+kuk iM+kA ok;q;ku dh okLrfod  pky Kkr dhft,A 

Q.24 Prove that the tangent at any point of a circle is perpendicular to the 

radius through the point of contact.   

fl) dhft, fd oÙ̀k ds fdlh fcUnq ij Li”kZ js[kk Li”kZ fcUnq ls tkus okyh f=T;k ij 

yac gksrh gSA 

Q.25 Draw a triangle ABC with side BC=8cm, °=∠°=∠ 30,45 CB . Then, 

construct a triangle similar to ∆ ABC such that its sides are 
4

3
 of the 

corresponding sides of ∆ ABC.   

,d f=Hkqt ABC cukb, ftlesa Hkqtk BC=8cm, °=∠°=∠ 30,45 CB rFkk gSA vc ,d 

vU; f=Hkqt dh jpuk dhft, tks ∆ ABC ds le:i gks rFkk ftldh Hkqtk,¡ f=Hkqt 

ABC dh laxr Hkqtkvksa dh 
4

3
 xquh gksaA 

Q.26 The first term of an A.P. is unity and the ratio of the sum of the first five 

terms to the sum of the next five terms is 9 : 29. Find the A.P.   

,d lekarj Js.kh dk izFke in 1 gS rFkk blds igys ikWap inksa dk ;ksx vkSj vxys ikWap inksa ds 

;ksx dk vuqikr 9 % 29 gSA lekarj Js.kh Kkr djksA 

Q.27 A gulab jamun, contains sugar syrup upto about 30% of its volume. 

Find how much syrup would be found in 45 gulab jamuns each shaped 

like a cylinder with two hemispherical ends. The total length of it is 5 

cm and radius 1.4 cm (Use 
7

22
=π )   

,d xqykc tkequ esa mlds vk;ru dh 30% phuh dh pk'kuh gSA 45 xqykc tkequksa esa 

fdruh pk'kuh gksxh] ;fn izR;sd xqykctkequ ,d csyu ds vkdkj dk gS] ftlds nksuksa 

fljs v/kZxksykdkj gSa rFkk bldh yackbZ 5 ls-eh- gS vkSj f=T;k 1.4 ls-eh- gSA 

5 6 
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(
7

22
=π yhft,) 

Q.28 In a flower bed, there are 23 rose plants in the first row, 21 in the 

second, 19 in the third and so on. There are 5 rose plants in the last row. 

How many rows are there in the flower bed? Also find the total number 

of plants.  Qyksa dh ,d D;kjh] esa] igyh iafDr esa 23 xqykc ds ikS/ks gSa] nwljh iafDr esa 

21 rhljh iafDr esa 19 rFkk vkxs Hkh blh izdkj ikS/ks gSaA ;fn vkf[kjh iafDr esa 5 xqykc 

ds ikS/ks gSa] rks D;kjh esa fdruh ikS/kksa dh ifDr;ka gS rFkk dqy fdrus xqykc ds ikS/ks gSaA 

Q.29 In given figure, PQRS is diameter of a circle of radius 6 cm. The 

lengths PQ, QR and RS are equal. Semicircles are drawn on PQ and QS 

as diameters. Find the area of the shaded region and also find its 

perimeter.   

 

 

nh xbZ vkd`fr esa] PQRS ,d 6 ls-eh- f=T;k okys o`Ùk dk O;kl gS rFkk yackbZ;k¡ PQ, 

QR rFkk RS ijLij leku gSaA PQ rFkk QS dks O;kl eku dj v/kZo`Ùk [khaps x,A 
Nk;kafdr {ks= dk {ks=Qy rFkk ifjeki Kkr dhft,A 

 

Q.30 If the diameters of the circular ends of a bucket 28cm high are 56 cm 

and 14 cm, determine its curved surface area and the total surface area. 

(Use 
7

22
=π )   

;fn 28 ls-eh- Å¡pkbZ dh ,d ckYVh ds o`Ùkh; fljksa ds O;kl 56 ls-eh- rFkk 14 ls-eh- gSa] 

rks bldk cØi`’B {ks=Qy rFkk leiw.kZ {ks=Qy Kkr dhft,A (
7

22
=π  yhft,) 

Q.31 
A hemispherical tank full of water is emptied at the rate of 

7

1
7  liters per 

second. How much time will it take to make the tank half empty, if the 

tank is 3 m in radius? (use 
7

22
=π ) . Ikuh ls iwjh rjg ls Hkj ,d v/kZxksykdkj 

VSad dks 
7

1
7  yhVj izfr lSadM dh nj ls [kkyh fd;k tk jgk gSA ;fn VSad dh f=T;k 3 

eh gS rks bl vk/kk [kkyh djus esa fdruk le; yxsxk \ (
7

22
=π yhft,) 

                           ************** 
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